Foundations 12 - Int on to Probability Part 2
Homework: Lesson #2 on Pg. 133 #1-15
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Consider Ex 3 from last time. Using the sample space in the table determine:
a) the probability that the sum of the dice is bigger than B
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b) the probability that the sum of the dice is not bigger than &, q‘T-"rere are two ways to do this. Find both!)
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Anmother wa‘y we can express the chance of something happening is through Odds.
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The “Odds for” or “Odds in faver of” the sum being bigger than 8 are: | Q : lﬁ or 3 . 'I g
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The "Odds against” the sum being bigger than 8 are: ?{; N {'t:? ar [ 3 .S

If you have Even odds, that means the odds for and against and equal: | L f or % Yaw

The means the probability would be %L_ﬁ[fm gither outcome.

Odds are different from probability and it can get a little tricky when you go between Odds and Probability.
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c) find the odds for and odds ogainst the sum of the dice being bigger than 10 (in lowest terms)
— e

2 Jaordble  _y3L-2 unfawrable
33 G Favorab (o
r?t_J'r_f_ﬂ;_ Ellr« Gu:f < ﬂ;iﬁhsi

o » 3. 3
3132 =) 2322 = []1]

-]



62 JJSS“Z

The probability it will rain tomorrow is 0.65. What are the odds against it raining tomorrow?
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Ex3
The odds in f. winning a stuffed animal at a raffle are 2:75 and the odds in favor of winning a jar of
jellybeans is 2:105,

a) Which prize are you more likely to win? How do you know?
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b} Find the probability of winning each prize. Ani IIJ
Po # Luomke " g
= Tr7s = 77 - 0-025797

i1




al u-murzaiuh bigger than 5

b4, P

1 ke s : ,,
24 fole| Bl 5 X o) o

b] the sum of the dice is less than 5
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¢} explain why a) and b) are not events
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d] Roll the pair of dice 10 times, add up the numbers and record the results. Do the results exactly match
the probabilities you calculated in a) and b)7 Why or why not?
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